D1vISION WITH A REMAINDER II (H - SET 4)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—

121) 28496 = 3 = 136) 24531 =5 =
122) H7025 + 8 = 137 20153 + 7 =
123) 7134 = 1 = 138) 13027 = 3 =
129) 4854 + 3 = 139 11510 + 2 =
12 2012 = 1 = 1) 1836 = 2 =
126) 22224 + 7 = 1 16325 =4 =
127) 28630 + 3 = 112) 30191 =4 =
128) 43698 + 8 = 1) 21028 +4 =
129) 10602 = 5 = 1) 8816 + 1 =
130) 37824 + 4 = 1) 7245 + 3 =
131) 44645 =— & = 146) 49239 =5 =
132) 8834 + 3 = un 13344 + 2 =
133) 8329 =1 = 148) 13673 + 4 =
134) 7899 + 3 = 19) 8606 + 1 =
135) 26037 +~ 6 = 150 35865 + 10 =

Mathematics: Division - Level 8 - Horizontal - Set 4
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